Crypto Peerless, Bordesley Green Road, Birmingham B9 4UA, England  tel: 021-766 6655  fax: 021- 773 2420




"Peerless_bz

MEAT-CHOPPER MACHINE

Ne Code Description - Values Price
1 113.01/15 Helix pin
2 113.02/02 Blade
3 113.02/01 4,5 | Plateo 4,5
4 113.04/04 Ring nut
5 122.01/30 Locking body -
6 122.01/32 Locking lever
7 122.01/31 Counter-piece
8 122.02/11 Nut M8
9 116.01/01 Mouth
10 113.04/06 Helix
11 116.04/04 Hoppef
12 750.03/04 Microswitch
13 122.02/13 Screw M5x 16
14 116.01/06 Fastening ring
15 110.01/15 Pestle mod. 32
16 116.01/13 Ring locking key
17 116.04/03 Wiring diagram cover
18 122.01/36 . Distance piece
19 311.03117 Box GW 44206
20 122.03/06 Eletronic board ~ '
21 130.03/18 Contact’
22 110.02/06 Bearing 6005- 2Z
23 116.02/01 Bearing 7205 - BE
24 116.02/02 Sealing ring
25 116.02/05 Key 6x6x15
26 116.01/09 Shaft
27 116.04/01 Cover
28 116.01/04 Support
29 116.01/14 Screw
30 310.02/29 Screw M8 x 30
31 122.01/13 Pin stop plate
32 122.02/10 Screw M5x8
33 116.01/11 Safety cover
34 410.02/07 Screw M8 x 35
35 122.01/26 Foot +rubber washer
36 750.02/48 Washer
37 122.02/12 Screw M6 x 50
38 130.03/23 Cable presser
39 116.02/06 Screw M6 x 16
40 116.01/03 Gear set
41 116.02/03 Cable :
42 122.02/07 Split pin
43 122.02/02 Notched nut M16x 1,5
44 122.02/04 Cup spring
45 122.02/03 O - Ring 117 NB70
46 116.01/07 Gear pin
47 310.02/13 Screw - M8 x 20
48 310.02/24 Washer
49 | 116.02/07 Key 8x7x20
50 116.05/02 Motor 1 ph V230 /50Hz
51 116.05/03 - Capacitor
52 122.01/21 Plug
53 116.01/05 Gearbox
54 132.04/05 Nut M8
55 130.03/15 Cover
56 130.03/11 Push button
57 130.03/12 Stop/emergency button
58 130.03/19 Pilot tamp 24V
59 130.03/09 Push button
60 900.03/22 Contact
61 116.01/15 Pin
62 122.02/15 Plug
63 1 116.02/04 Fuse 13A

1766 6655

fax 021~




